Summary: 
100000+ variations. Factorising quadratics. 


Question:
a)	Solve by factorising:
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b)	Solve by factorising
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c)	The length of a rectangular lot is [image: <EFOFEX>
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</EFOFEX>] metres more than its width. Let the width be w. Draw a diagram and label the length and width in terms of w.







	Find the length and width of the rectangular lot if the area is [image: <EFOFEX>
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d)	Solve by equating to 0 and factorising.
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Solution:
a)	[image: <EFOFEX>
id:fxe{7d6235d3-416c-4154-83f0-dc0ff6cd9b6f}
FXGP:DP-S6L5RV3
FXData:

</EFOFEX>]
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c)	
[image: <EFOFEX>
id:fxd{666e95f8-d095-4c45-8161-29450da2850d}
FXGP:DP-WYUTUS2
FXData:

</EFOFEX>]
[image: <EFOFEX>
id:fxe{b2961239-0217-4915-88bd-2c8e65a39220}
FXGP:DP-WYUTUS2
FXData:

</EFOFEX>]
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